
FL40-430BL12

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

TV pole mount

TV-paalsteun

TV Stangenhalterung

Support de colonne pour écran

Supporto palo per TV

Soporte de TV para poste

Suporte de TV para poste

Monitorstativ med klemme til stang  

NO 

SE 

FI 

PL 

CS 

SK 

RO 

Skjermfeste med klemme til stang

Skärmfeste med klämma til stång

TV tolppakiinnike

Rurka do zamocowania uchwytu do TV

Držák na TV k připevnění na tyč

Držiak televízora na tyč

Suport de stâlp pentru televizor 

5
5

m
m

minØ28~
maxØ50mm

75mm

100mm

200mm

226mm

76mm

122mm

m
m

0
0

2

m
m

6
2

2

m
m

0
0

1

m
m

5
7

+10°

-15°

+3° -3°

±60°

79mm



PARTS

FL40-430BL12

Tool Drill

A. (x1) B. (x1) C. (x2) D. (x2) G. (x1)

 

 

 

 

 

 

 

EN

NL

DE

FR

IT

ES

PT

PL

Remove the VESA plate from the mount

Verwijder de VESA plaat van de steun

Entfernen Sie der VESA-Platte von die Halterung

Retirez la plaque VESA du support

Rimuovere la piastra VESA dal supporto

Desconecte la placa VESA del soporte

Remova a placa VESA do suporte

Zdejmij płytkę VESA z uchwytu

STEP 1

M-A. M4x14
(x4)

M-B. M5x14
(x4)

M-C. M6x14
(x4)

M-D. M8x20
(x4)

M-E. D5
(x4)

M-F. D8
(x4)

M-G. (x8)

E. 4mm
(x1)

F. 6mm
(x1)

75x75 -

200x200 mm

0-25 kg | 

0-55,1 lbs

0-7,6 cm

A

G



* Not Included

Attach the mount to the pole 

Bevestig de beugel aan de paal

Montage die Halterung an der Stange 

Fixez le support

Fissare il supporto 

Fijar el soporte 

Fixar o suporte

Zamocuj uchwyt 

EN

NL

DE

FR

IT

ES

PT

PL

Attach the VESA plate to the screen and use spacers if 

necessary

Bevestig de VESA plaat aan het scherm en gebruik 

afstandhouders indien nodig

VESA-Platte am Monitor fixieren und Montage der 
Distanzscheiben wenn nötig

Fixez la plaque VESA à l'écran et utilisez des entretoises 

si nécessaire

Collegamento del piatto VESA al monitor e utilizzare 

distanziatori, se necessario

Coloque la placa VESA en la pantalla y utilice 

espaciadores si es necesario

Colocar a placa VESA no monitor e utilize separadores 

se necessário
Montaż płytki VESA do monitora I użyj dystansów jeśli 
jest taka potrzeba

EN

NL

DE

FR

IT

ES

PT

PL

STEP 2

Firmly tighten the screws to 
prevent the mount from sliding 
down the pole.

STEP 3

D
B

C

M-A

M-B

M-E M-F

M-C

M-F

M-G M-G

M-D

M-F

M-D

minØ28-maxØ50mm

F

Too Long Too Short



Attach the screen onto the mount and secure it

Bevestig het scherm aan de steun en zet vast

Montage und Sicherung des Bildschirmes an die 

Halterung

Accrochez l’écran sur le cadre et fixez-le
Appendere lo schermo sulla staffa e fissarlo
Cuelgue la pantalla en el soporte y asegúrela

Pendure a tela no suporte e prenda-a

Zawieś monitor na wsporniku i zabezpiecz go

EN

NL

DE

FR

IT

ES

PT

PL

Adjust the torques

Stel het koppel in

Einstellen des Drehmoments

Réglagez les couples

Regolazione della coppia

Ajuste el tornillo

Ajustar os parafusos

Dostsosuj siłę docisku regulacji 
obrotu monitora

EN

NL

DE

FR

IT

ES

PT

PL

STEP 4

STEP 5

E



Adjust the mount to your desired position

Stel gewenste positie van de steun in

Stellen Sie die Halterung auf die gewünschte 

Position ein

Ajustez le vidéoprojecteur à la position souhaitée

Regola il supporto nella posizione desiderata

Ajuste el soporte a la posición deseada
Ajuste o suporte na posição desejada

Dostosuj pozycję uchwytu do twoich wymagań

EN

NL

DE

FR

IT

ES

PT

PL

STEP 6

+10°

+3°
-3°

+15°

±60°








